R OB &k & " OB 2 A
BHHEARSRE X
BEAA=1tHILAER
e -3 TR F YA
(REER) (R KL 5 1%)
F#ET T C
REEBEECESRE
o i T 4456 45 2 5 s A 1,785 146,268
R B 45 TE AR R
I e A 1 (2)
AR5 5 RE N w1 31 g o i T BT 2 2R 2l 4 - (100,306)
ANHEEEAEARD R % B4 2
Fff &g 2 w1 T 2 AR 2 i 4 - (50,235)
A R A W) 2 i AR (1,067) (516)
ik 205 276
S U B A - 139
Rl A 186 811
BEE BB BB (ER) 1,108 (3,565)
G # TR 5 H AR E D () 1,962 (9,932)
JRE Wiz S 2 38 - (829)
TE A FIE > i A B At B i 3TE
W () 1,108 (4,700)
G & TR EAT 5 S E S - 1,820
JRE AT B 38 1,681 1,576
JRE T ) S L At JE AT 3k TE 38 1,427 2,059
£ 8D 198 =
wamEL () 284 7,484 (13,571)
B A LS i A (19) -
mEEHEL TR 2B &5 7,465 (13,571)




B B o & &£ B A B A 7
HHEERERI X
BZANA=+tHIEXEA
e -3 TR F Y4
(REER) (R 585 #%)
F#ET F 0
REZHELECZEERE
B Y WE KR 1) (502)
AHEEAARE WS LRSS
KfF Ja8 4> 5 BT E A 2 Wi a - (43)
G TE B B 2 B R A 91) (545)
BMETHELECRERE
£ i AR 1 2
BEAT A T 45 31 IR - 23,054
AT E AR RE N K - (12,000)
—ZIEHR 2z GRS B (5,830) 6,635
fE R AT & (35) —
RLE TS B (BT ) A 2 B 4 (5,864) 17,691
ReRESEEERA 2B MFE 1,510 3,575
R-EZERFE—-HF—H2Z
RERBELEEER 3,365 112
R-ZBEREFEAA=1+AZ
HeRBELEEER 4,875 3,687
RERBLESEEBLEEDI T
BRAT T B 4 45 A 4,875 3,687




